## दिल्ली विकास प्राधिकरण अधिशासी अभियंता कार्यालय एन.एम.डी.-4 (पूर्ववर्ती डब्ल्यू.डी.-5) प्रथम तल, विकास मीनार, नई दिल्ली-110002



Office of The Executive Engineer
NMD-4 (Erstwhile WD-5)

1st floor, Vikas Minar, New Delhi-110002
Email ID - eenmd4nz@dda.org.in
Contact No. 011-23379515

No. F.5(19)EE/NMD-4/DDA/2025-26/ 453

Dated. 12/12/25

To

3

M/s Surender & Co., BQ-20, Shalimar Bagh, Delhi-110088

N.O.W:

Deployment of machinery and labour for various demolition programmes in

North Zone/DDA.

Sub-Head:

Arrangement of manpower, equipments and transport on hire basis to D.D.A and

disposal of malba/building rubbish etc. for demolition programs in North Zone for

the year 2025-2026.

Your percentage rate tender for the above-mentioned work has been accepted on behalf of the President of India by DDA as per the rates and conditions given below:

1. Estt. Cost

Rs. 3,87,54,932/-

(Rs. Three Crore Eighty-Seven Lakh Fifty-

Four Thousand Nine Hundred Thirty-Two

Only)

2. Tendered Amount

Rs. 1,91,02,306/-

(Rs. One Crore Ninety-One Lakh Two

Thousand Three Hundred Six Only)

3. Percentage

50.71% below on the estimated cost.

4. Time allowed

365 days

The 10% performance guarantee of the tendered amount "M/s Surender & Co. has submitted P.G. in the shape of TDR A/c No. 467903031047812 & Reverse A/c No. 218740130309764 Dated 12-12-2025 Amounting to Rs. 19,11,000/- Valid upto 16-01-2027 from Union Bank of India, Shalimar Bagh, New Delhi-110088" submitted by you, has been considered. You are also requested to attend this office along with non-judicial stamp paper worth Rs. 50/- to sign the formal agreement. The above said formalities must be completed within 7 days from the date of issue of this letter.

Contd...2

After completion of the above noted formalities you should contact to the Sh. Rajesh Gangwar, AE-II/NMD-4 of this division and start the work at once. Please note that the time allowed for carrying out the work will be 'start from next day after the date of issue of this letter to commence the work. Further if you fail to commence the work as specified above, the award letter will be withdrawn by DDA without prejudice to any other right or remedy available on law will be at liberty to forfeit the performance guarantee absolutely.

(Er. A. L. Meena) Executive Engineer NMD-4/DDA

## Copy to: -

- 1 SE/NCC-2/DDA.
- 2 EE (QC) IV/DDA
- 3 EE(QRT)/LM/DDA.
- 4 F.O. to C.E. North Zone/DDA
- 5 AO(W)II/DDA.
- 6 PS to CLM/DDA
- 7 Director(QRT)LM/DDA
- 8 Dy. Director/LM/NWZ/DDA & Dy. Director (Central)/DDA
- 9 EE/NMD-1, EE/NMD-2 & EE/NMD-3/DDA
- 10 Dy. Commr. Sales Tax Office Govt. of NCT Room No. 211, Bikri Kar Bhawan, ITO, New Delhi.
- 11 Trans Yamuna Contractor association (Regd) 11-12 Vir Sawakar Market (Budh Bazar) Gandhi Nagar, New Delhi-110031 (UPC).
- 12 Delhi Contractors Building association (Regd) No. 5503 Ch. Bhim Singh Road, Delhi (Ch. Prem Raj Bhawan New Chandrawal Road (UPC).
- 13 Delhi Contractors Welfare Associations (Regd) 306, Masjid Moth, South Extn. Part-II, New Delhi-110049 (UPC).
- 14 Indian Contractor Association (Regd) G-80/20, Main Bazar Laxmi Nagar, Delhi-110092 (UPC).
- 15 Sh. Rajesh Gangwar, AE-II/NMD-4 for information along with copy of schedule of quantities
- 16 AE(P)/NMD-4/DDA for information along with copy of schedule of quantities.
- 17 Head Clerk/NMD-4/DDA. He is requested to issue the Master Register at once.
- 18 Dy. Director (System) @ dda.org.in to place on DDA website.
- 19 Director (PR) @ dda.org.in.
- 20 E-mail to ddatender@dda.org.in
- 21 Guard File

Executive Engineer NMD-4/DDA



Tender Inviting Authority: Delhi Development Authority

Name of Work: Deployment of machinery and labour for various demolition programmes in North Zone/DDA.

Sub Head: Arrangement of manpower, equipments and transport on hire basis to D.D.A and disposal of malba/building rubbish etc. for demolition programs in North Zone for the year 2025-2026.

N.I.T No: 19/EE/NMD-4/DDA/2025-26

03/EE(P & HQ)/SE(P & HQ)/NZ/DDA/2025-26

Name of the Bidder/ Bidding Firm / Company:	M/S. SURENDER AND COMPANY								
PRICE SCHEDULE									
NUMBER#	TEXT #	NUMBER#	TEXT#	NUMBER	NUMBER #	TEXT#			
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words			
1	2	3	4	5	6	7			
1	Beldar without Hammer	1848.00	Nos.	1047.05	19,34,948.00	INR Nineteen Lakh Thirty Four Thousand Nine Hundred & Forty Eight Only			
1.1	Beldar with 5 kg Hammer	2136.00	Nos.	1054.15	22,51,664.00	INR Twenty Two Lakh Fifty One Thousand Six Hundred & Sixty Four Only			
2	Hire and running charges Hydraulic excavator J.C.B with operator and fuel etc. all complete.	718.00	Nos.	11057.15	79,39,034.00	INR Seventy Nine Lakh Thirty Nine Thousand &Thirty Four Only			
3	Hire and running charges of light/break down crane with operator, fuel etc. all completed.	14.00	Nos.	5493.35	76,907.00	INR Seventy Six Thousand Nine Hundred & Seven Only			
4	Hire and running charges Hydraulic excavator JCB with breaker with driver with fuel etc. all complete	456.00	Nos.	12676.95	57,80,689.00	INR Fifty Seven Lakh Eighty Thousand Six Hundred & Eighty Nine Only			
5	Hire and running charges Long boom excavator (Poclain) with fuel, carriage and operator etc. complete	137.00	Nos.	49299.30	67,54,004.00	INR Sixty Seven Lakh Fifty Four Thousand &Four Only			
6	Hire and running charges of air compressor 250 cfm with Pneumatic cutter/Hammer with operator and fuel etc. all complete.	139.00	Nos.	2535.40	3,52,421.00	INR Three Lakh Fifty Two Thousand Four Hundred & Twenty One Only			
7	Disposal of moorum/building rubbish/ malba/ similar unserviceable, dismantled or waste material by mechanical transport including loading, transporting, unloading to approved municipal dumping ground for all leads and lifts, complete as per directions of Engineer-in-charge. (The item is applicable in urban areas having directions for restricted hours for movement/ plying of load carrying motor vehicle of 3.5 cum or more.) The rate includes the dumping & disposal charges of C&D processing plants authorised by Govt.	19768.00	МТ	569.95	1,12,66,772.00	INR One Crore Twelve Lakh Sixty Six Thousand Seven Hundred & Seventy Two Only			
8	Hire and running charges of Gas cutter with operator all complete.	151.00	Nos.	2957.95	4,46,650.00	INR Four Lakh Forty Six Thousand Six Hundred & Fifty Only			
9	Hire and running charges of Dumper with driver, fule etc. all complete.	44.00	Nos.	6197.60	2,72,694.00	INR Two Lakh Seventy Two Thousand Six Hundred & Ninety Four Only			
	Excavating holes more than 0.10 cum & upto 0.5 cum including getting out the excavated soil, then returning the soil as required in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering etc, disposing of surplus excavated soil, as directed within a lead of 50 m and lift upto 1.5 m.  All kinds of soil	337.00	each	82.45	27,786.00	INR Twenty Seven Thousand Seven Hundred & Eighty Six Only			
	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:  1-5:10 (1 cement : 5 coarse sand (zone-III) derived from natural sources : 10 graded stone aggregate 40 mm nominal size derived from natural sources)	6.10	cum	6518.60	39,763.00	INR Thirty Nine Thousand Seven Hundred & Sixty Three Only			

	PRICE SCHEDULE					<del></del>
NUMBER#	TEXT#	NUMBER #	TEXT#	NUMBER	NUMBER #	TEXT#
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
12	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:  1:3:6 (1 Cement: 3 coarse sand (zone-III) derived from natural sources: 6 graded stone aggregate 20 mm nominal size derived from natural sources	7.60	cum	7294.70		INR Fifty Five Thousand Four Hundred & Forty Only
13	Supplying at site:  R.C.C. Standards post/ struts/rails/ pales of mix 1:1.5:3 (1 cement: 1.5 coarsesand: 3 graded stone aggregate 12.5 mm nominal size) with wooden plugs or 6 mm bar nibs wherever required as per direction of Engineer-in-charge (cost of earth works in excavation, concrete works in foundation to be paid separately).	10.00	cum	32891.20	3,28,912.00	INR Three Lakh Twenty Eight Thousand Nine Hundred Twelve Only
14	Fencing with R.C.C. post placed at required distance, embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted on both sides and end post one side only, provided with horizontal lines and two diagonals of barbed wire weighing 9.38 kg per 100 metres (minimum), between the two posts fitted and fixed with G.I. staples on wooden plugs or G.I. binding wire tied to 6 mm bar nibs fixed while casting the post (cost of R.C.C. posts, struts, earth work and concrete to be paid for separately):— Payment to be made per metre cost of total length of barbed wire used.  With G.I. barbed wire	4992.00	metre	14.00	69,888.00	INR Sixty Nine Thousand Eight Hundred & Eighty Eight Only
15	Providing and fixing of M.S. board of size 1.20X0.90m with frame of M.S. Angle iron 50X50X6mm with two vertical legs of M.S. angle iron of size 50X50X6mm, 2.40m long embedded concrete 1:3:6 of size 0.60X0.60X0.60m. The M.S. sheet 1mm thick shall be welded with angle iron 50X50X6 mm. the M.S. Flat of size 30X5mm shall be welded all round on the back side of M.S. sheet, the M.S. board shall be painted with a coat of approved steel primer of approved brand and manufacture as per drawings and dimensions all complete as direction of Engineer in-charge.	50.00	each	7358.90	3,67,900.00	INR Three Lakh Sixty Seven Thousand Nine Hundred Only
16	Lettering with black Japan paint of approved brand and manufacture	44250.00	per letter per cm height	6.15	2,72,138.00	INR Two Lakh Seventy Two Thousand One Hundred & Thirty Eight Only
17	Providing Photographer along with all equipments for capturing photos of demolition program/any events to be carried out and Atleast 100-120 Photos of size 5" x 7" placed in water proof album to be provided complete as per the direction of Engineer in Charge.	48.00	Each	8891.50	4,26,792.00	INR Four Lakh Twenty Six Thousand Seven Hundred & Ninety Two Only
18	Providing videographer along with all equipments for recording videos of demolition program/any events to be carried out and Soft copy of Videos in a pendrive to be provided complete as per the direction of Engineer in Charge.	48.00	Each	9033.75	4,33,620.00	INR Four Lakh Thirty Three Thousand Six Hundred & Twenty Only
	(A) Total for item no. 7			11266772.00	1,12,66,772.00	INR One Crore Twelve Lakh Sixty Six Thousand Seven Hundred & Seventy Two Only
	Total for item no. 4, 5, 8, 17 & 18			13841755.00	1,38,41,755.00	INR One Crore Thirty Eight Lakh Forty One Thousand
	(B) Adjustment of GST(multiply by 0.973) (for item no. 4, 5, 8, 17 & 18)			13468028.00	1,34,68,028.00	Seven Hundred & Fifty Five Only INR One Crore Thirty Four Lakh Sixty Eight Thousand &Twenty Eight Only
	Total (except for item no. 4, 5, 7, 8, 17 & 18)			13989495.00	1,39,89,495.00	INR One Crore Thirty Nine Lakh Eighty Nine Thousand Four Hundred & Ninety Five Only
	(C) Adjustment of GST(multiply by 0.973) (except item no. 4, 5, 7, 8, 17 & 18)			13611779.00	1,36,11,779.00	INR One Crore Thirty Six Lakh Eleven Thousand Seven
	(D) Add cost Index@3% (except item no. 4, 5, 7, 8, 17 & 18)			408353.00	4,08,353.00	INR Four Lakh Eight Thousand Three Hundred & Fifty Three Only
	(E) TOTAL (C+D)			14020132.00	1,40,20,132.00	INR One Crore Forty Lakh Twenty Thousand One Hundred & Thirty Two Only
otal in igures	TOTAL (A+B+E)	INR Eleven Crore Ninety Seven Lakh Four Thousand Three Hundred & Thirty Six Only				
Quoted Rate	n Figures		Less (-)	50.71%	1,91,02,305.98	INR One Crore Ninety One Lakh Two Thousand Three Hundred & Five and Paise Ninety Eight Only
Quoted Rate in Words अधिशाषी अभियन्ता		INR On	e Crore Ni	nety One Laki	Two Thousand T	hree Hundred & Five and Paise Ninety Eight Only

Executive Engineer एन.एम.डी.-4/डी.डी.ए. Northern Maint. Div.-4/D.D.A.